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outline

 futher check
» pythia yy,RevID,sherpa yy
» myy of RevID ,Reviso,pythia and sherpa
» sherpa +0,1,2jets:500 events after VBF preselection

» signal parameterization:HGamTools
» function:CB+GA,DoubleCB
» Single:fit one resonance for each category

» Parameterization:fit multiple mass point and give
yield and shape dependence on mass point

» memory leak locally,try to fix it (give some
histograms the same name)
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conclusion

* Revlso,RevID:
»soft photons,invMass flat
»shall we do invMass cut?
»similar varable distribution
* Pythia vyy:
»soft jets(ok to be used as diphton bkg?)
* Sherpa yy:(MxAOD by myself)
»301575 events pass diphoton preselection
» 3551 events pass invMass events
» 500 events pass VBF preselection
»another sherpa gamgam+0,1,2,3jets running
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» fit tight and loose category with DoubleCB
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» fit tight and loose category with CB+GA
» not good!



Parameterizations of Variables
Double-sided Crystal Ball function

Fit variable Functional Form

M (mean) quadratic a,mg? + a,mg + a,

o (width) linear a;mg + q,

A ow custom a, +[a; / (a, + mg)]

Noow ceonstant %o We plan to enable
Ariigh linear Mg +3, | yser modifications
Niign constant a to parameterization

functions soon

Crystal Ball + Gaussian function

Fit variable Functional Form

M (mean) quadratic a,mg? + a,;mg + a,
Ocg (CB width) linear a,mg + a,

a linear a;mg + a,

N constant a,

Oga (GA width) linear a;mg + a,
fractiongg constant a

7/28/15 Andrew Hard - The University of Wisconsin Madison
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parameter alphaCBHi

Ratio

parameter nCBHi

Ratio
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to do list

* shape parameter
»>fit each category and production mode
»give shape dependence on mass

* expected signal and bkg yield
»lumi,Xsec,br,cut efficiency

* give the significance
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